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QUESTION 1

For CMDB Health, relationships can be which of the following choices? (Choose three.)
A. Duplicate

B. Stale

C. Orphan

D. Required

E. Recommended

Correct Answer: ABC

Reference: https://docs.servicenow.com/bundle/quebec-servicenow-platform/page/product/configuration-
management/task/t_ViewRelationshipsHealth.html

QUESTION 2

Using the SNMP Query operation on a pattern for a custom device query, it is best practice to do what?
A. Modify the default MIB information

B. Enable SSH as a secondary protocol

C. Use live devices in production

D. Use the publish manufacturer\\'s device MIB

Correct Answer: D

Reference: https://docs.servicenow.com/bundle/rome-it-operations-management/page/product/service-
mapping/task/t_SNMPQueryPatDef.html

QUESTION 3
Which choice allows the following functionality to occur?

If this value is set to 1000 and a discovery must scan 10,000 IP addresses using a single MID Server, it creates 10
Shazzam probes with each probe scanning 1000 IP addresses.

A. MID Server Clusters
B. MID Server selection method
C. Shazzam Batch Size

D. Behaviors
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Correct Answer: C

Reference: https://docs.servicenow.com/bundle/quebec-it-operations-
management/page/product/discovery/task/t_CreateADiscoverySchedule.html

QUESTION 4

Which metrics comprise the Completeness KPI for CMDB Health? (Choose two.)
A. Required

B. Recommended

C. Audit

D. Overall

Correct Answer: AB

Reference: https://docs.servicenow.com/bundle/quebec-servicenow-platform/page/product/configuration-
management/reference/r_CMDBHealthMetrics.html

QUESTION 5

Which operation is used to change from the default credentials to any other appropriate credentials in a horizontal
pattern?

A. Change credentials
B. Change user

C. Alternate credentials
D. Alternate user
Correct Answer: B

Reference: https://docs.servicenow.com/bundle/paris-it-operations-management/page/product/service-
mapping/task/t_ChangeUserPatDef.html
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